
4I
T

07
6 

#1
72

 g
M

ed
=

20
 r

ho
12

=
0.

09
   

   
   

   
   

   
  G

ly
ci

ne
 (

N
)

2I
T

00
3 

#5
1 

gM
ed

=
13

1 
rh

o1
2=

0.
09

   
   

   
   

   
   

  S
uc

ro
se

 (
C

)

1I
T

06
9 

#2
1 

gM
ed

=
21

 r
ho

12
=

0.
02

   
   

   
   

   
 C

itr
ic

 A
ci

d 
(C

)

3I
T

06
6 

#1
14

 g
M

ed
=

83
 r

ho
12

=
0.

06
   

   
 m

et
hy

lg
ly

ox
al

 0
.0

04
 v

ol
%

4I
T

05
2 

#1
48

 g
M

ed
=

91
 r

ho
12

=
0.

23
   

   
 D

−
C

yc
lo

se
rin

e 
0.

05
 m

g/
m

l

4I
T

08
2 

#1
78

 g
M

ed
=

19
0 

rh
o1

2=
0.

10
   

   
   

   
   

L−
M

et
hi

on
in

e 
(N

)

4I
T

09
1 

#1
87

 g
M

ed
=

23
2 

rh
o1

2=
0.

17
   

   
   

   
   

   
 C

yt
os

in
e 

(N
)

4I
T

07
4 

#1
70

 g
M

ed
=

22
3 

rh
o1

2=
0.

16
   

   
   

   
   

L−
A

sp
ar

ag
in

e 
(N

)

4I
T

07
8 

#1
74

 g
M

ed
=

17
1 

rh
o1

2=
0.

13
   

   
   

   
   

   
L−

A
la

ni
ne

 (
N

)

4I
T

08
6 

#1
82

 g
M

ed
=

21
0 

rh
o1

2=
0.

17
   

   
   

   
   

   
D

−
A

la
ni

ne
 (

N
)

4I
T

07
3 

#1
69

 g
M

ed
=

22
6 

rh
o1

2=
0.

31
   

   
   

   
   

 L
−

T
hr

eo
ni

ne
 (

N
)

4I
T

07
1 

#1
67

 g
M

ed
=

25
5 

rh
o1

2=
0.

30
   

   
   

   
   

 L
−

H
is

tid
in

e 
(N

)

2I
T

00
1 

#4
9 

gM
ed

=
20

4 
rh

o1
2=

0.
48

   
   

   
   

   
   

D
−

G
lu

co
se

 (
C

)

1I
T

06
1 

#1
3 

gM
ed

=
26

2 
rh

o1
2=

0.
32

   
   

   
   

   
   

D
−

G
lu

co
se

 (
C

)

1I
T

07
6 

#2
8 

gM
ed

=
25

8 
rh

o1
2=

0.
35

   
   

   
   

   
   

D
−

G
lu

co
se

 (
C

)

4I
T

09
0 

#1
86

 g
M

ed
=

22
2 

rh
o1

2=
0.

32
   

   
   

   
   

   
  U

rid
in

e 
(N

)

4I
T

08
0 

#1
76

 g
M

ed
=

24
4 

rh
o1

2=
0.

26
   

   
   

   
   

L−
Is

ol
eu

ci
ne

 (
N

)

4I
T

08
1 

#1
77

 g
M

ed
=

22
4 

rh
o1

2=
0.

30
   

   
   

   
   

   
L−

Le
uc

in
e 

(N
)

4I
T

08
4 

#1
80

 g
M

ed
=

23
5 

rh
o1

2=
0.

32
   

   
   

   
   

  L
−

ty
ro

si
ne

 (
N

)

2I
T

01
1 

#5
9 

gM
ed

=
21

3 
rh

o1
2=

0.
22

   
   

   
   

   
  D

−
M

an
ni

to
l (

C
)

2I
T

00
4 

#5
2 

gM
ed

=
23

3 
rh

o1
2=

0.
30

   
   

   
   

   
 L

−
A

ra
bi

no
se

 (
C

)

1I
T

06
4 

#1
6 

gM
ed

=
23

7 
rh

o1
2=

0.
26

   
   

   
   

   
 L

−
A

ra
bi

no
se

 (
C

)

1I
T

07
9 

#3
1 

gM
ed

=
27

8 
rh

o1
2=

0.
32

   
   

   
   

   
 L

−
A

ra
bi

no
se

 (
C

)

1I
T

06
5 

#1
7 

gM
ed

=
16

2 
rh

o1
2=

0.
24

   
   

   
   

   
 D

−
G

al
ac

to
se

 (
C

)

1I
T

08
0 

#3
2 

gM
ed

=
24

6 
rh

o1
2=

0.
27

   
   

   
   

   
 D

−
G

al
ac

to
se

 (
C

)

2I
T

00
5 

#5
3 

gM
ed

=
25

0 
rh

o1
2=

0.
34

   
   

   
   

   
 D

−
G

al
ac

to
se

 (
C

)

2I
T

01
0 

#5
8 

gM
ed

=
18

8 
rh

o1
2=

0.
27

   
   

   
   

   
   

su
cc

in
at

e 
(C

)

2I
T

01
5 

#6
3 

gM
ed

=
28

8 
rh

o1
2=

0.
29

   
   

   
   

   
   

  L
−

M
al

ic
 (

C
)

1I
T

07
4 

#2
6 

gM
ed

=
18

2 
rh

o1
2=

0.
29

   
   

   
   

   
   

su
cc

in
at

e 
(C

)

1I
T

08
8 

#4
0 

gM
ed

=
17

6 
rh

o1
2=

0.
24

   
   

   
   

   
   

su
cc

in
at

e 
(C

)

1I
T

07
3 

#2
5 

gM
ed

=
19

7 
rh

o1
2=

0.
32

   
   

   
   

   
   

 p
yr

uv
at

e 
(C

)

1I
T

08
7 

#3
9 

gM
ed

=
27

4 
rh

o1
2=

0.
35

   
   

   
   

   
   

 p
yr

uv
at

e 
(C

)

1I
T

07
0 

#2
2 

gM
ed

=
18

4 
rh

o1
2=

0.
30

   
   

   
   

   
   

D
−

La
ct

at
e 

(C
)

2I
T

00
9 

#5
7 

gM
ed

=
21

1 
rh

o1
2=

0.
30

   
   

   
   

   
   

 p
yr

uv
at

e 
(C

)

2I
T

00
7 

#5
5 

gM
ed

=
24

1 
rh

o1
2=

0.
29

   
   

   
   

   
   

L−
La

ct
at

e 
(C

)

2I
T

00
6 

#5
4 

gM
ed

=
28

1 
rh

o1
2=

0.
23

   
   

   
   

   
   

D
−

La
ct

at
e 

(C
)

2I
T

00
8 

#5
6 

gM
ed

=
28

1 
rh

o1
2=

0.
27

   
   

   
   

   
 D

,L
−

La
ct

at
e 

(C
)

1I
T

07
1 

#2
3 

gM
ed

=
22

0 
rh

o1
2=

0.
25

   
   

   
   

   
   

L−
La

ct
at

e 
(C

)

1I
T

08
5 

#3
7 

gM
ed

=
17

3 
rh

o1
2=

0.
27

   
   

   
   

   
   

L−
La

ct
at

e 
(C

)

1I
T

07
2 

#2
4 

gM
ed

=
23

2 
rh

o1
2=

0.
30

   
   

   
   

   
 D

,L
−

La
ct

at
e 

(C
)

1I
T

08
4 

#3
6 

gM
ed

=
22

1 
rh

o1
2=

0.
32

   
   

   
   

   
   

D
−

La
ct

at
e 

(C
)

1I
T

08
6 

#3
8 

gM
ed

=
22

3 
rh

o1
2=

0.
28

   
   

   
   

   
 D

,L
−

La
ct

at
e 

(C
)

1I
T

06
6 

#1
8 

gM
ed

=
24

4 
rh

o1
2=

0.
29

   
   

   
   

   
   

 D
−

R
ib

os
e 

(C
)

1I
T

08
1 

#3
3 

gM
ed

=
20

1 
rh

o1
2=

0.
30

   
   

   
   

   
   

 D
−

R
ib

os
e 

(C
)

1I
T

07
5 

#2
7 

gM
ed

=
20

2 
rh

o1
2=

0.
25

   
   

   
   

   
  D

−
M

an
ni

to
l (

C
)

1I
T

07
7 

#2
9 

gM
ed

=
22

9 
rh

o1
2=

0.
22

   
   

   
   

   
  D

−
F

ru
ct

os
e 

(C
)

1I
T

09
0 

#4
2 

gM
ed

=
21

1 
rh

o1
2=

0.
28

   
   

   
   

   
  D

−
M

an
ni

to
l (

C
)

1I
T

06
2 

#1
4 

gM
ed

=
30

7 
rh

o1
2=

0.
22

   
   

   
   

   
  D

−
F

ru
ct

os
e 

(C
)

1I
T

06
3 

#1
5 

gM
ed

=
25

3 
rh

o1
2=

0.
31

   
   

   
   

   
   

  S
uc

ro
se

 (
C

)

1I
T

07
8 

#3
0 

gM
ed

=
23

7 
rh

o1
2=

0.
28

   
   

   
   

   
   

  S
uc

ro
se

 (
C

)

2I
T

01
4 

#6
2 

gM
ed

=
28

2 
rh

o1
2=

0.
32

   
   

   
   

   
   

 T
w

ee
n 

20
 (

C
)

4I
T

07
2 

#1
68

 g
M

ed
=

24
9 

rh
o1

2=
0.

28
   

   
   

   
   

   
 L

−
S

er
in

e 
(N

)

2I
T

01
2 

#6
0 

gM
ed

=
26

1 
rh

o1
2=

0.
29

   
   

   
   

   
   

 G
ly

ce
ro

l (
C

)

2I
T

01
3 

#6
1 

gM
ed

=
34

7 
rh

o1
2=

0.
29

   
   

   
   

   
  D

−
S

or
bi

to
l (

C
)

2I
T

00
2 

#5
0 

gM
ed

=
25

8 
rh

o1
2=

0.
27

   
   

   
   

   
  D

−
F

ru
ct

os
e 

(C
)

2I
T

02
1 

#6
9 

gM
ed

=
22

6 
rh

o1
2=

0.
32

   
   

   
   

   
   

D
−

M
an

no
se

 (
C

)

1I
T

08
9 

#4
1 

gM
ed

=
18

5 
rh

o1
2=

0.
25

   
   

   
   

   
  p

ro
pi

on
at

e 
(C

)

4I
T

07
0 

#1
66

 g
M

ed
=

24
8 

rh
o1

2=
0.

30
   

   
   

   
   

  L
−

A
rg

in
in

e 
(N

)

4I
T

08
3 

#1
79

 g
M

ed
=

24
9 

rh
o1

2=
0.

28
   

   
   

   
L−

P
he

ny
la

la
ni

ne
 (

N
)

2I
T

01
6 

#6
4 

gM
ed

=
30

4 
rh

o1
2=

0.
24

   
   

   
   

   
L−

A
sp

ar
ag

in
e 

(C
)

2I
T

01
7 

#6
5 

gM
ed

=
27

2 
rh

o1
2=

0.
27

   
   

   
   

   
 L

−
G

lu
ta

m
in

e 
(C

)

4I
T

07
5 

#1
71

 g
M

ed
=

24
6 

rh
o1

2=
0.

28
   

   
   

   
   

 L
−

G
lu

ta
m

in
e 

(N
)

4I
T

07
7 

#1
73

 g
M

ed
=

25
1 

rh
o1

2=
0.

27
   

   
   

   
   

   
L−

P
ro

lin
e 

(N
)

4I
T

08
9 

#1
85

 g
M

ed
=

19
6 

rh
o1

2=
0.

16
   

   
   

   
 P

ar
ab

an
ic

 A
ci

d 
(N

)

4I
T

09
2 

#1
88

 g
M

ed
=

21
1 

rh
o1

2=
0.

26
   

   
   

 A
m

m
on

iu
m

 c
hl

or
id

e 
(N

)

2I
T

04
0 

#8
8 

gM
ed

=
21

9 
rh

o1
2=

0.
13

 B
en

za
lk

on
iu

m
 C

hl
or

id
e 

0.
00

1 
m

g

4I
T

07
9 

#1
75

 g
M

ed
=

18
9 

rh
o1

2=
0.

07
   

   
   

   
   

   
 L

−
V

al
in

e 
(N

)

4I
T

08
5 

#1
81

 g
M

ed
=

12
6 

rh
o1

2=
0.

04
   

   
   

   
   

   
 D

−
S

er
in

e 
(N

)

1I
T

06
8 

#2
0 

gM
ed

=
14

8 
rh

o1
2=

0.
32

   
   

   
   

D
−

G
lu

co
ni

c 
A

ci
d 

(C
)

1I
T

08
3 

#3
5 

gM
ed

=
17

9 
rh

o1
2=

0.
34

   
   

   
   

D
−

G
lu

co
ni

c 
A

ci
d 

(C
)

1I
T

06
7 

#1
9 

gM
ed

=
93

 r
ho

12
=

0.
23

   
   

   
   

 a
−

K
et

og
lu

ta
ric

 (
C

)

1I
T

08
2 

#3
4 

gM
ed

=
78

 r
ho

12
=

0.
19

   
   

   
   

 a
−

K
et

og
lu

ta
ric

 (
C

)

3I
T

09
2 

#1
40

 g
M

ed
=

20
4 

rh
o1

2=
0.

12
 in

ne
r 

cu
t, 

LB
 s

of
t a

ga
r 

m
ot

ili

1I
T

05
4 

#6
 g

M
ed

=
16

1 
rh

o1
2=

0.
02

   
   

   
   

   
   

   
 Z

in
c 

1 
m

M

2I
T

02
5 

#7
3 

gM
ed

=
27

3 
rh

o1
2=

0.
18

   
   

co
pp

er
 (

II)
 c

hl
or

id
e 

2 
m

M

3I
T

07
6 

#1
24

 g
M

ed
=

26
3 

rh
o1

2=
0.

24
   

   
  C

ob
al

t c
hl

or
id

e 
0.

32
 m

M

3I
T

07
7 

#1
25

 g
M

ed
=

22
4 

rh
o1

2=
0.

16
   

   
   

C
ob

al
t c

hl
or

id
e 

0.
4 

m
M

3I
T

06
9 

#1
17

 g
M

ed
=

21
9 

rh
o1

2=
0.

24
   

   
   

 s
yr

in
ga

ld
eh

yd
e 

2.
5 

m
M

3I
T

08
5 

#1
33

 g
M

ed
=

17
9 

rh
o1

2=
0.

12
   

   
   

   
   

  n
itr

at
e 

10
0 

m
M

3I
T

08
7 

#1
35

 g
M

ed
=

30
2 

rh
o1

2=
0.

13
   

   
   

 S
is

om
ic

in
 0

.0
04

 m
g/

m
l

3I
T

06
2 

#1
10

 g
M

ed
=

33
7 

rh
o1

2=
0.

13
   

 C
hl

or
am

ph
en

ic
ol

 0
.0

01
 m

g/
m

l

3I
T

06
1 

#1
09

 g
M

ed
=

25
5 

rh
o1

2=
0.

17
   

C
hl

or
am

ph
en

ic
ol

 0
.0

00
5 

m
g/

m
l

3I
T

06
3 

#1
11

 g
M

ed
=

28
7 

rh
o1

2=
0.

16
   

  T
et

ra
cy

cl
in

e 
0.

00
00

5 
m

g/
m

l

3I
T

08
4 

#1
32

 g
M

ed
=

22
5 

rh
o1

2=
0.

18
   

   
   

   
   

   
ni

tr
at

e 
45

 m
M

4I
T

05
8 

#1
54

 g
M

ed
=

29
1 

rh
o1

2=
0.

29
   

   
   

   
   

   
   

   
LB

, p
H

5

4I
T

05
9 

#1
55

 g
M

ed
=

31
1 

rh
o1

2=
0.

29
   

   
   

   
   

   
   

   
LB

, p
H

5

2I
T

02
0 

#6
8 

gM
ed

=
26

5 
rh

o1
2=

0.
24

   
   

   
   

   
   

ca
sa

m
in

os
 (

C
)

3I
T

06
0 

#1
08

 g
M

ed
=

21
3 

rh
o1

2=
0.

33
   

   
   

   
   

   
   

   
 L

B
 3

0C

3I
T

05
9 

#1
07

 g
M

ed
=

32
1 

rh
o1

2=
0.

28
   

   
   

   
   

   
   

   
 L

B
 3

0C

3I
T

05
7 

#1
05

 g
M

ed
=

26
8 

rh
o1

2=
0.

24
   

   
   

   
   

   
   

   
 L

B
 2

3C

3I
T

05
8 

#1
06

 g
M

ed
=

28
9 

rh
o1

2=
0.

27
   

   
   

   
   

   
   

   
 L

B
 2

3C

3I
T

08
9 

#1
37

 g
M

ed
=

20
3 

rh
o1

2=
0.

16
   

   
D

im
et

hy
l S

ul
fo

xi
de

 6
 v

ol
%

3I
T

08
2 

#1
30

 g
M

ed
=

21
6 

rh
o1

2=
0.

09
 T

ha
lli

um
(I

) 
ac

et
at

e 
0.

00
1 

m
g/

m

3I
T

07
0 

#1
18

 g
M

ed
=

25
0 

rh
o1

2=
0.

15
   

   
   

   
   

   
   

   
   

  L
B

3I
T

08
1 

#1
29

 g
M

ed
=

21
7 

rh
o1

2=
0.

12
 T

ha
lli

um
(I

) 
ac

et
at

e 
0.

00
06

 m
g/

3I
T

06
8 

#1
16

 g
M

ed
=

20
9 

rh
o1

2=
0.

19
   

5−
H

yd
ro

xy
m

et
hy

lfu
rf

ur
al

 5
 m

M

4I
T

06
1 

#1
57

 g
M

ed
=

30
5 

rh
o1

2=
0.

18
   

   
   

   
   

   
   

   
LB

, p
H

6

4I
T

06
0 

#1
56

 g
M

ed
=

25
4 

rh
o1

2=
0.

18
   

   
   

   
   

   
   

   
LB

, p
H

6

4I
T

06
2 

#1
58

 g
M

ed
=

39
6 

rh
o1

2=
0.

16
   

   
   

   
   

   
   

   
LB

, p
H

7

4I
T

06
3 

#1
59

 g
M

ed
=

32
7 

rh
o1

2=
0.

15
   

   
   

   
   

   
   

   
LB

, p
H

7

4I
T

06
6 

#1
62

 g
M

ed
=

30
2 

rh
o1

2=
0.

18
   

   
   

   
   

   
   

   
LB

, p
H

9

4I
T

06
4 

#1
60

 g
M

ed
=

30
3 

rh
o1

2=
0.

20
   

   
   

   
   

   
   

   
LB

, p
H

8

4I
T

06
5 

#1
61

 g
M

ed
=

27
8 

rh
o1

2=
0.

16
   

   
   

   
   

   
   

   
LB

, p
H

8

3I
T

08
3 

#1
31

 g
M

ed
=

21
7 

rh
o1

2=
0.

13
   

   
   

   
   

   
ni

tr
at

e 
20

 m
M

3I
T

08
6 

#1
34

 g
M

ed
=

22
1 

rh
o1

2=
0.

14
   

   
   

   
   

   
   

   
   

  L
B

4I
T

05
4 

#1
50

 g
M

ed
=

31
9 

rh
o1

2=
0.

15
   

   
   

C
ef

ta
zi

di
m

e 
0.

01
 m

g/
m

l

3I
T

06
5 

#1
13

 g
M

ed
=

22
9 

rh
o1

2=
0.

13
   

   
   

   
   

   
   

   
   

  L
B

3I
T

09
0 

#1
38

 g
M

ed
=

20
5 

rh
o1

2=
0.

16
   

   
   

   
   

   
   

   
   

  L
B

4I
T

05
5 

#1
51

 g
M

ed
=

31
2 

rh
o1

2=
0.

18
   

   
   

   
   

   
   

   
   

  L
B

4I
T

05
1 

#1
47

 g
M

ed
=

32
1 

rh
o1

2=
0.

15
   

   
  C

ep
ha

lo
th

in
 0

.0
25

 m
g/

m
l

4I
T

04
9 

#1
45

 g
M

ed
=

34
1 

rh
o1

2=
0.

20
   

   
  C

ep
ha

lo
th

in
 0

.0
05

 m
g/

m
l

4I
T

05
0 

#1
46

 g
M

ed
=

33
1 

rh
o1

2=
0.

16
   

   
   

C
ep

ha
lo

th
in

 0
.0

1 
m

g/
m

l

3I
T

07
8 

#1
26

 g
M

ed
=

25
1 

rh
o1

2=
0.

22
   

   
   

 s
od

iu
m

 fl
uo

rid
e 

20
 m

M

3I
T

07
9 

#1
27

 g
M

ed
=

29
2 

rh
o1

2=
0.

22
   

   
   

 s
od

iu
m

 fl
uo

rid
e 

35
 m

M

1I
T

05
3 

#5
 g

M
ed

=
22

2 
rh

o1
2=

0.
22

   
   

   
 s

od
iu

m
 fl

uo
rid

e 
25

 m
M

3I
T

08
0 

#1
28

 g
M

ed
=

24
5 

rh
o1

2=
0.

16
   

   
   

 s
od

iu
m

 fl
uo

rid
e 

50
 m

M

3I
T

06
7 

#1
15

 g
M

ed
=

23
0 

rh
o1

2=
0.

14
   

  2
−

F
ur

fu
ra

ld
eh

yd
e 

0.
06

 v
ol

%

1I
T

05
6 

#8
 g

M
ed

=
26

7 
rh

o1
2=

0.
19

   
   

   
   

   
   

ni
tr

ite
 1

0 
m

M

2I
T

04
7 

#9
5 

gM
ed

=
20

4 
rh

o1
2=

0.
01

   
   

   
   

   
   

   
   

  T
im

e0
 5

/1
1/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t2

2I
T

04
6 

#9
4 

gM
ed

=
22

2 
rh

o1
2=

0.
04

   
   

   
   

   
   

   
   

  T
im

e0
 5

/1
1/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t2

4I
T

05
6 

#1
52

 g
M

ed
=

30
9 

rh
o1

2=
0.

00
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t4

4I
T

05
7 

#1
53

 g
M

ed
=

26
6 

rh
o1

2=
0.

00
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t4

3I
T

07
1 

#1
19

 g
M

ed
=

25
6 

rh
o1

2=
0.

02
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t3

3I
T

05
5 

#1
03

 g
M

ed
=

30
2 

rh
o1

2=
0.

00
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

1/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t3

3I
T

05
4 

#1
02

 g
M

ed
=

29
6 

rh
o1

2=
−

0.
02

   
   

   
   

   
   

   
   

  T
im

e0
 5

/1
1/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t3

3I
T

05
6 

#1
04

 g
M

ed
=

29
9 

rh
o1

2=
−

0.
02

   
   

   
   

   
   

   
   

  T
im

e0
 5

/1
1/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t3

3I
T

07
4 

#1
22

 g
M

ed
=

18
9 

rh
o1

2=
0.

03
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t3

4I
T

09
5 

#1
91

 g
M

ed
=

29
0 

rh
o1

2=
0.

02
   

   
   

   
   

   
   

   
  T

im
e0

 6
/1

0/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t4

4I
T

09
3 

#1
89

 g
M

ed
=

25
6 

rh
o1

2=
−

0.
01

   
   

   
   

   
   

   
   

  T
im

e0
 6

/1
0/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t4

4I
T

09
4 

#1
90

 g
M

ed
=

25
9 

rh
o1

2=
−

0.
00

   
   

   
   

   
   

   
   

  T
im

e0
 6

/1
0/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t4

4I
T

09
6 

#1
92

 g
M

ed
=

24
3 

rh
o1

2=
0.

04
   

   
   

   
   

   
   

   
  T

im
e0

 6
/1

0/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t4

3I
T

07
3 

#1
21

 g
M

ed
=

21
3 

rh
o1

2=
0.

05
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t3

2I
T

04
8 

#9
6 

gM
ed

=
22

4 
rh

o1
2=

0.
07

   
   

   
   

   
   

   
   

  T
im

e0
 5

/1
1/

20
15

 a
ci

do
vo

ra
x_

3H
11

_M
L3

a_
se

t2

3I
T

07
2 

#1
20

 g
M

ed
=

23
1 

rh
o1

2=
0.

01
   

   
   

   
   

   
   

   
  T

im
e0

 5
/1

9/
20

15
 a

ci
do

vo
ra

x_
3H

11
_M

L3
a_

se
t3

1I
T

09
1 

#4
3 

gM
ed

=
24

1 
rh

o1
2=

−
0.

00
   

   
   

   
   

   
   

   
  T

im
e0

 3
/3

/2
01

5 
ac

id
ov

or
ax

_3
H

11
_M

L3
a_

se
t1

1I
T

09
4 

#4
6 

gM
ed

=
23

6 
rh

o1
2=

0.
02

   
   

   
   

   
   

   
   

  T
im

e0
 3

/3
/2

01
5 

ac
id

ov
or

ax
_3

H
11

_M
L3

a_
se

t1

1I
T

09
3 

#4
5 

gM
ed

=
24

2 
rh

o1
2=

0.
03

   
   

   
   

   
   

   
   

  T
im

e0
 3

/3
/2

01
5 

ac
id

ov
or

ax
_3

H
11

_M
L3

a_
se

t1

1I
T

09
5 

#4
7 

gM
ed

=
23

6 
rh

o1
2=

0.
01

   
   

   
   

   
   

   
   

  T
im

e0
 3

/3
/2

01
5 

ac
id

ov
or

ax
_3

H
11

_M
L3

a_
se

t1

1I
T

09
2 

#4
4 

gM
ed

=
22

4 
rh

o1
2=

0.
03

   
   

   
   

   
   

   
   

  T
im

e0
 3

/3
/2

01
5 

ac
id

ov
or

ax
_3

H
11

_M
L3

a_
se

t1

1I
T

09
6 

#4
8 

gM
ed

=
22

5 
rh

o1
2=

−
0.

00
   

   
   

   
   

   
   

   
  T

im
e0

 3
/3

/2
01

5 
ac

id
ov

or
ax

_3
H

11
_M

L3
a_

se
t1

3I
T

07
5 

#1
23

 g
M

ed
=

21
6 

rh
o1

2=
0.

16
   

 N
ic

ke
l (

II)
 c

hl
or

id
e 

0.
8 

m
M

4I
T

06
7 

#1
63

 g
M

ed
=

28
2 

rh
o1

2=
0.

30
   

   
   

   
   

   
   

   
LB

, p
H

9

3I
T

06
4 

#1
12

 g
M

ed
=

22
9 

rh
o1

2=
0.

27
   

   
Te

tr
ac

yc
lin

e 
0.

00
01

 m
g/

m
l

4I
T

05
3 

#1
49

 g
M

ed
=

18
5 

rh
o1

2=
0.

21
 D

ox
yc

yc
lin

e 
hy

cl
at

e 
0.

00
00

25
 m

1I
T

05
9 

#1
1 

gM
ed

=
16

0 
rh

o1
2=

0.
24

 P
ol

ym
yx

in
 B

 s
ul

fa
te

 0
.0

00
1 

m
g/

1I
T

05
8 

#1
0 

gM
ed

=
23

4 
rh

o1
2=

0.
28

   
   

   
   

   
  C

hl
or

at
e 

20
 m

M

1I
T

05
0 

#2
 g

M
ed

=
21

9 
rh

o1
2=

0.
30

   
   

  C
ob

al
t c

hl
or

id
e 

0.
16

 m
M

1I
T

05
1 

#3
 g

M
ed

=
23

2 
rh

o1
2=

0.
29

   
   

  C
ob

al
t c

hl
or

id
e 

0.
32

 m
M

1I
T

05
2 

#4
 g

M
ed

=
21

5 
rh

o1
2=

0.
26

   
   

co
pp

er
 (

II)
 c

hl
or

id
e 

1 
m

M

1I
T

05
7 

#9
 g

M
ed

=
20

8 
rh

o1
2=

0.
31

   
   

   
S

is
om

ic
in

 0
.0

00
5 

m
g/

m
l

1I
T

06
0 

#1
2 

gM
ed

=
17

2 
rh

o1
2=

0.
25

   
   

   
   

   
   

   
   

   
  L

B

1I
T

04
9 

#1
 g

M
ed

=
22

8 
rh

o1
2=

0.
28

   
 N

ic
ke

l (
II)

 c
hl

or
id

e 
0.

6 
m

M

1I
T

05
5 

#7
 g

M
ed

=
22

8 
rh

o1
2=

0.
32

   
   

   
   

   
   

   
   

   
  L

B

4I
T

08
8 

#1
84

 g
M

ed
=

11
9 

rh
o1

2=
0.

08
   

   
   

   
   

   
ca

sa
m

in
os

 (
N

)

3I
T

09
6 

#1
44

 g
M

ed
=

16
5 

rh
o1

2=
0.

15
 in

ne
r 

cu
t, 

R
2A

 s
of

t a
ga

r 
m

ot
il

3I
T

09
4 

#1
42

 g
M

ed
=

22
8 

rh
o1

2=
0.

17
 in

ne
r 

cu
t, 

R
2A

 s
of

t a
ga

r 
m

ot
il

3I
T

09
5 

#1
43

 g
M

ed
=

20
2 

rh
o1

2=
0.

15
 in

ne
r 

cu
t, 

R
2A

 s
of

t a
ga

r 
m

ot
il

3I
T

09
1 

#1
39

 g
M

ed
=

25
3 

rh
o1

2=
0.

11
 in

ne
r 

cu
t, 

LB
 s

of
t a

ga
r 

m
ot

ili

3I
T

09
3 

#1
41

 g
M

ed
=

22
5 

rh
o1

2=
0.

10
 in

ne
r 

cu
t, 

LB
 s

of
t a

ga
r 

m
ot

ili

4I
T

06
8 

#1
64

 g
M

ed
=

19
3 

rh
o1

2=
0.

30
   

   
   

   
   

   
   

  L
B

, p
H

10

4I
T

06
9 

#1
65

 g
M

ed
=

21
6 

rh
o1

2=
0.

28
   

   
   

   
   

   
   

  L
B

, p
H

10

2I
T

03
0 

#7
8 

gM
ed

=
22

2 
rh

o1
2=

0.
13

   
   

   
  C

is
pl

at
in

 0
.0

1 
m

g/
m

l

2I
T

02
7 

#7
5 

gM
ed

=
28

5 
rh

o1
2=

0.
15

 P
ar

aq
ua

t d
ic

hl
or

id
e 

0.
02

5 
m

g/
m

2I
T

02
9 

#7
7 

gM
ed

=
28

1 
rh

o1
2=

0.
19

   
   

   
 C

is
pl

at
in

 0
.0

05
 m

g/
m

l

2I
T

02
6 

#7
4 

gM
ed

=
27

4 
rh

o1
2=

0.
20

 P
ar

aq
ua

t d
ic

hl
or

id
e 

0.
01

 m
g/

m
l

2I
T

02
8 

#7
6 

gM
ed

=
25

0 
rh

o1
2=

0.
21

   
   

   
C

is
pl

at
in

 0
.0

02
5 

m
g/

m
l

3I
T

04
9 

#9
7 

gM
ed

=
31

1 
rh

o1
2=

0.
26

   
   

   
B

ac
itr

ac
in

 0
.0

16
 m

g/
m

l

3I
T

05
0 

#9
8 

gM
ed

=
29

0 
rh

o1
2=

0.
25

   
   

   
B

ac
itr

ac
in

 0
.0

32
 m

g/
m

l

2I
T

02
3 

#7
1 

gM
ed

=
21

2 
rh

o1
2=

0.
23

   
   

  C
ob

al
t c

hl
or

id
e 

0.
32

 m
M

2I
T

04
1 

#8
9 

gM
ed

=
25

4 
rh

o1
2=

0.
27

   
   

   
A

lu
m

in
um

 c
hl

or
id

e 
2 

m
M

2I
T

04
2 

#9
0 

gM
ed

=
23

6 
rh

o1
2=

0.
21

   
   

   
A

lu
m

in
um

 c
hl

or
id

e 
4 

m
M

2I
T

03
3 

#8
1 

gM
ed

=
16

8 
rh

o1
2=

0.
18

   
   

   
   

   
   

ni
tr

ite
 1

0 
m

M

2I
T

03
6 

#8
4 

gM
ed

=
22

0 
rh

o1
2=

0.
26

   
   

   
   

  p
er

ch
lo

ra
te

 1
0 

m
M

2I
T

03
7 

#8
5 

gM
ed

=
24

7 
rh

o1
2=

0.
25

   
   

   
   

  p
er

ch
lo

ra
te

 2
5 

m
M

2I
T

03
5 

#8
3 

gM
ed

=
24

4 
rh

o1
2=

0.
22

   
   

   
   

   
 C

hl
or

ite
 0

.1
 m

M

2I
T

03
2 

#8
0 

gM
ed

=
22

4 
rh

o1
2=

0.
21

   
   

   
   

   
   

   
   

   
  L

B

2I
T

02
4 

#7
2 

gM
ed

=
22

6 
rh

o1
2=

0.
28

   
   

co
pp

er
 (

II)
 c

hl
or

id
e 

1 
m

M

2I
T

03
1 

#7
9 

gM
ed

=
24

2 
rh

o1
2=

0.
28

   
   

   
   

   
   

   
 Z

in
c 

1 
m

M

3I
T

05
1 

#9
9 

gM
ed

=
30

3 
rh

o1
2=

0.
29

   
   

   
   

F
us

id
ic

 0
.0

01
 m

g/
m

l

2I
T

04
3 

#9
1 

gM
ed

=
23

3 
rh

o1
2=

0.
25

   
   

  P
ho

sp
ho

m
yc

in
 0

.0
2 

m
g/

m
l

3I
T

05
2 

#1
00

 g
M

ed
=

26
1 

rh
o1

2=
0.

24
   

   
   

   
   

   
   

   
   

  L
B

2I
T

02
2 

#7
0 

gM
ed

=
25

0 
rh

o1
2=

0.
27

   
 N

ic
ke

l (
II)

 c
hl

or
id

e 
0.

6 
m

M

2I
T

04
5 

#9
3 

gM
ed

=
18

9 
rh

o1
2=

0.
21

   
   

   
B

ac
itr

ac
in

 0
.0

08
 m

g/
m

l

2I
T

04
4 

#9
2 

gM
ed

=
22

9 
rh

o1
2=

0.
27

   
   

  P
ho

sp
ho

m
yc

in
 0

.0
6 

m
g/

m
l

3I
T

05
3 

#1
01

 g
M

ed
=

24
6 

rh
o1

2=
0.

25
   

   
   

   
   

 A
22

 0
.0

25
 m

g/
m

l

2I
T

03
4 

#8
2 

gM
ed

=
23

4 
rh

o1
2=

0.
23

   
   

   
 S

is
om

ic
in

 0
.0

01
 m

g/
m

l

2I
T

03
9 

#8
7 

gM
ed

=
27

5 
rh

o1
2=

0.
24

   
   

   
   

   
   

   
   

   
  L

B

2I
T

03
8 

#8
6 

gM
ed

=
25

3 
rh

o1
2=

0.
10

 P
ol

ym
yx

in
 B

 s
ul

fa
te

 0
.0

00
1 

m
g/

3I
T

08
8 

#1
36

 g
M

ed
=

12
6 

rh
o1

2=
0.

19
 B

en
ze

th
on

iu
m

 c
hl

or
id

e 
0.

00
6 

m
M

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

hclust (*, "complete")
as.dist(1 − cor(log2(1 + fit$gN[fit$gN$locusId %in% fit$genesUsed, 

    −1])))

H
ei

gh
t


